Find the missing digit in the expressions below and tick the correct ans
x 12 =24 X 12 =144 9 x =63
O4 0O Oi1c On 2 O 0O
X 3 =33 x 11 =110 8 X =80
On O 5 010 1 Do Os /
12 x =48 12 x =84 x 11 =99
O O 4 O Oz 0mn O O ||
x 12 =132 12 x =60 x 11 =22
3 0Mmn 0 5 0 7 > 0O a 2
8 x = § 12 x =12 Xx9=9
O4 01 O2 O 02 O10 O O04 O3
X =80 X =16 X 6 = 60
Oy Oc¢ Os Os O Oi10 Os O ¢
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Find the missing digit in the expressions below and tick the correct ans

x 12 =24 x 12 =144 9 x =63

X 85 =233 x 11 =10 8 X =80
1 O Ds To0n MioOs 07
12 > =48 12 =84 x 11 =99
Ds O 4 Y7 D0 03z o
x 12 =132 12 =60 x 11 =22
3z lfn 0 75 0O 7 04 z
8 x = 12 =2 X9 =49

Ok O Os Ms Os 10 O
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U
O
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